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lll. By testing the limits of measurements level for gas pollutant (co2) ,the
results show the following figures : [ C=12,02=16].

250 g/ m* at25ccand 1 atm.
e Find out the concentration in PPM .

e Find out the concentration in percentage( % ) by volume .
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| .For air pollution test used filter for finding the rate of concentration of
particulates per day at housing area, the distance between the small steel factory
and the housing area is 500m, also found weight precipitated of 10 gr. Knowing that

the rate of the pump used for this test is 50 m*/hr, the time for this test is one day
.Find out the rate of daily concentration for particulates in mgr/ m* ?
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